
for both wye and delta
(balanced loads)

VP	 = 	 Phase Voltage
VL	 = 	 Line Voltage
IP	 = 	 Phase Current
IL	 = 	 Line Current
R	 =	 R1 = R2 = R3 = 
	 	 Resistance of each branch
W	 =	 Wattage

wye and delta
equivalents

WDELTA	 = 	 3 WWYE

WODELTA	=	 2/3 WDELTA

WOWYE	 =	 1/2 WWYE

definitions

T ech
Tip

T ech
Tip

Proheat Inc.   P.O. Box 48    LaGrange, KY  40031     502-222-1402     fx: 502-222-0714
www.proheatinc.com

Three phase wye
(balanced load)
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Equations for wye only

IP = IL

VP = VL/1.73
WWYE = WL

2/R = 3(VP
2)/R

L

Three phase open wye
(no neutral)
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Equations for open wye only

IPO = ILO

VPO = VL/2
WOWYE = 1/2(WL

2/R
WOWYE = 2(VPO

2)/R

three phase delta
(balanced load)
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Equations for delta only

IP = IL/1.73
VP = VL

WDELTA = 3(VL
2)/R

WDELTA = 1.73 VL IL

three phase
open delta
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Equations for open delta only

VP = VL

IPO1 = IPO3 = ILO2

ILO3 = 1.73 IPO1

W0DELTA = 2(VL
2)/R


